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EC-05
December - Examination 2017
B.A./B.Sc. Pt. lll Examination
Quantitative Methods
Paper - EC-05

Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C. Write

answers as per the given instructions.
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Section - A 10 X2=20
(Very Short Answer Questions)

Note:  Answer all questions. As per the nature of the question delimit
your answer in one word, one sentence or maximum up to 30
words. Each question carries 2 marks.
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(1) Write any two functions of statistics.

AIfEh! o BIg &1 Bt foTRau

(1)) What do you understand by two dimensional diagram?

fo-faur o 9 e =7 IR §?

(ii1)) Define ‘Measures of central tendencies’

B TgfRT b HIY DI URATNT IR

(iv) Define the coefficient of variation.

foeRuT-Torieh @1 g BT

(v) Explain the ‘Regression Lines’.

U @T3T Pl FHTS |

(vi) Define seasonal fluctuations in time series.

It Aot § A STrnael B gl HifvTul

(vii) What do you mean by Extrapolation?
JIENUM | MY FIT FHST § ?

(viii)Define Inter-Quartile Range.

IR-Tgefd fRAR @1 aRwIa SISy

(ix) Write the formula of spearman's Rank difference method.

FRRAT T ife R I a1 97 faRau)
(x) 1fy=ﬁthenﬁnd%=?

R y=/x @A L s Fiftw
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Section - B 4 X10=40
(Short Answer Questions)

Note:  Answer any four questions. Each answer should not exceed

200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg IR 99)

fAder: fhgl IR WAl & IR SN 3T 3 IR Dl 3Ffehad

2)

3)

4)

200 greei ¥ AT HIfTT| e weT 10 3iehi T Bl

‘Statistical methods are most dangerous tools in the hands of the
inexpert’. Explain fully the significance of the above statement.
AifEThIT ARl e SRS & grell § WaRaTd gk g1’ Jad
Y <l g1 I Ul GRAT DI

Explain the importance of graphic presentation of data. Describe the

rules of graphic presentation.

el b fa=g V&I Uee 1 Haca [HeRY| [Segralld veel &
REICAREEERIEAINIY

Distinguish between the fallowing:

(1) Dispersion and skewness:

(i1) Correlation and regression.
frforRad o eFaR Tase HifSw: -
() 3mafepRur qeur fosHar|

(i) Ted=Y T UOTH |
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What are the essential properties of an Ideal Average. Discuss the

objective and function of a average.
Ueh 3TTGel ATE o JMTaeIeh dcd DI—DI A & ? Th AL b U E
el T BT i fad==T BTl

Calculate the Karl Pearson's coefficient of correlation from the
following data:

1 3Tl | PIel TR &1 Fg—q=ae oTd S1a DbIfoTg|
Age of husband (In year) {23 |27 28|28 (29[30|31(33|35|36
ot 1 o (ad ¥)
Age of wifes (In year) 181202227 (21(2927(29(28|29

gt ol g (ay H)

What precautions will you take while constructing index numbers?

JIADID AT T AT AT AGETIT G ?

Explain the following : (Any two)

(i) Additive model in time series.

(i1) Multiplicative model in time series
(ii1) Lorenz curve method of dispersion.
fFrafeRaa 1 wmesy: (fpgl Q1)

(i) ra Soft H AT His|

(ii) Tt ol H ToTcHD His|

(iii) STfARYT bl AR ash fafer|
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9) Using an appropriate formula for interpolation estimate the average

number of babies born per mother aged of 30-34
FCRIUA & T I BT YA BRad §Y 30-34 af Pl 31y
aTelT A3 A Ieq RIS Dl 3IRIT FET BT SFIAM DI

Age of Mother (In year) |15-19{20-24(25-29|30-34|35-39 |40-44
7T i g (I H)
Average No.of babies born| 0.7 | 2.1 | 3.1 ? 5.7 | 5.8
S qedl Bl afivId T
Section - C 2%X20=40
(Long Answer Questions)

Note:  Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries 20
marks.

(TvE - A)
(e IR o)

fAder : gl <1 woAl & IR ST 3709 IR T s 500 2Mear

T gRAT BT 81 U U9 20 3T & gl

10) What are secondary data? Explain various methods of collecting

secondary data and what precautions should be necessary before

using them?

fociae ave Fa1 g g2 fodae wmal & [t Sl &
faemT ST iR 9 ST B | qd FT-FaT AraeTr

SR TMfRY ?

11) (i) Explain different measures of skewness with formulas.

A & Afed fawmar & &= A1di a1 FHes)
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(i1)) From the following data calculate the Karl Pearson's coefficient

of skewness.

orAfeTRaT Fep! A et UHRAT T ITHAT orieh ST BT

Measurement | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
HIY
Frequency 10 12 18 25 16 14 05

12) Write short note on following: (Any two)

(1) Chi-square Test.

(i) Variance and coefficient of variation.

(ii1)) Consumer Price Index.

freferac = & fob=gi &1 W Sifére fevauft ferRau

() Pre-ai uRre|
(i) TRIRUT UG faRur urieh |
(iii) ST e DD |

13) (i) 6x?—x—2 =0 is a quadratic Equation. Solve the equation and

find both root values of x.
6x2 —x —2 =0T e FHfiepvor g1 foRT geT e gl x &
aﬁqﬁa\aaﬁaﬁﬁm

X

(i) Ify="7>%"

X —5\/7

afg =

_5\/7

2x—5

then find out

%aﬁ

(iii) Prove that: RTg HINIT;

a*b 0
a’c b2°¢

0 ab® ac®

bc?
0

= 2a°h°¢?

dy _
d—_‘)

=7 §1d SR
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